Math 202 — Term 112

Quiz 4a

Name: ID #: Section #:

(Q1l) Find a linear differential operator that annihilates that the function
(e Tsinz — e** cos x)

(Q2) Use variation of parameters to solve y” + 3y’ + 2y =

1+ev’
(Q3) Solve the Cauchy-Euler equation z%y” + zy’ —y = Inx.



Math 202 — Term 112

Quiz 4b

Name: ID #: Section #:

2 ,—x

(Q1) Determine the form of particular solution for y” + 2y’ +y = z%e*.
(Q2) Use variation of parameters to solve 2y” + 2y’ + y = 4y/x.

(Q3) Solve the Cauchy-Euler equation z%y” + 10zy’ + 8y = 2.



